
-
-

-

-

C

ab

al



&

&

(5) (6) 26)

(11) (10)

(11)

(14)
(17) (18)

(19) (22)
(23) (25) (26)

(23) (23) (25)
(26)

1281 (30)

& T
& &

& &
& & &

& &
S S



1) a) th
= = (rarb)

b)
+b + (b+z)

=
(a+b) .5 = abc +5

= = + (7bc)

2) x = (a+b) + + +2

X= (a+b+c(a +b+c)

= ab + ac+ ab+ b +bi + ac +b

= ac + ac + b

= ac + ac+ b(1+ i)

= ac + ac+ b+b

= (a+b)i + ac+ b

a) fi = I

b) +z = ac +b

3) a) y = ab+ ac

6) y = ab+C

When a= 0 . /Y
= b

y = b+C

thus 10 . 0 . 1) can be detected .



4) a) 000/0

b) 10

2) QoYQu2
:E

·

5) shown above


